
LISTENING MODULE 

() Practice Test 1, Track 1 (Track 16) 

Section 1: Questions 1-1 O 

Questions 1-4 
Complete the notes below. 

Write NO MORE THAN TWO WORDS AND/OR A NUMBER for each answer. 

Write your answers in boxes 1-4 on your answer sheet. 

NOTES ON COURSES AVAILABLE 
Example: 

Number of language courses per week: ... 10 ... 

Languages 

• Modern European Languages: French, Spanish, German, Dutch, Polish

• Ancient languages: Latin and 1 ............. . 

• Asian Languages: Hindi and 2 ............. . 

Cost £25.00 per person per term 

Notes: Bulk booking (more than two courses for 3 .............. terms) 10% discount. 

To reserve a place in a language class, telephone Mrs Johnson on extension 4 ............. . 

Questions 5-1 O 
Complete the table and information below. 

Write NO MORE THAN TWO WORDS AND/OR A NUMBER for each answer. 

Write your answers in boxes 5-10 on your answer sheet. 

Monthly Computer Courses 

Date Subject Places Available Cost per Person 

1st February 5 .............. 24 £40.00 

March Excel 6 .............. only £45.00 

April Outlook 19 7 .............. 

3rd 8 .............. Word 9 .............. £55.00 

To book a place on a computer course, call Mary Jones before 10 ............. . 
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() Practice Test 1, Track 2 (Track 17) 

Section 2: Questions 11-20 

Questions 11-16 
Complete this summary of the welcoming speech. 

Write NO MORE THAN TWO WORDS AND/OR A NUMBER for each answer. 

Write your answers in boxes 11-16 on your answer sheet. 

Dear Joe, 

You missed the Welcome meeting. We were greeted by the principal of Donleavy 

11 .............. , who explained how the university has 12 .............. campuses. 

He told us where all the important buildings on this campus are and also explained 

which subjects are studied on the other two. The principal's 13 .............. is on our 

campus. Weekly 14 .............. are held in the Office and Administration Block every 

Tuesday at 1:30 p.m., and we are encouraged to attend. The university shop sells all 

the 15 .............. and stationery we might need, and you can find it next to the cafeteria. 

Remember, we must carry our 16 .............. to get into the campus. 

Regards, 

Rebecca 



Questions 17-20 

Complete the labels on the buildings in the map. 

Write NO MORE THAN 7WO WORDS AND/OR A NUMBER for each answer. 

Write your answers in boxes 17-20 on your answer sheet. 

IELTS Practice Test 1 I I{
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() Practice Test 1, Track 3 (Track 18)

Section 3: Questions 21-30 

Choose the correct letter: A, B or C. 
Write your answers in boxes 21-30 on your answer sheet. 

21 Bill was ill. What was wrong? 

A A cold 

B A food allergy 

C A severe pain in his head 

22 Bill and Sarah 

A live near each other. 

B have never worked on a project together. 

C have plans for later that evening. 

23 Bill and Sarah have to 

A research and write a survey questionnaire. 

B ask shopkeepers questions. 

C submit their project via the internet. 

24 What does Sarah want Bill to do? 

A Visit the library 

B Write a list of questions 

C Use a computer 

25 Which of the following items will be included in Bill and Sarah's research? 

A Deodorants and cosmetics 

B Electrical goods 

C Food and clothing 

26 With what aspect of the project does Bill express concern? 

A Meeting the project's timeline 

B Invading people's privacy 

C Finding enough reference material 



27 What does Bill plan to do for the rest of the day? 

A Review the notes from the previous week 

B Prepare for his next meeting with Sarah 

C Find people to participate in the research 

28 What does Sarah do for Bill? 

A Lets him borrow her book 

B Gives him a copy of her notes 

C Promises to help him study 

29 What does Sarah have to do at the library? 

A Research 

B Meet Bill 

C Collect some books 

30 Where do Bill and Sarah agree to meet the next day? 

A In the library 

B In class 

C In the laboratory 

IELTS Practice Test 1 I I {
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() Practice Test 1, Track 4 (Track 19) 

Section 4: Questions 31-40 

Questions 31-32 
Choose the correct letter: A, B or C. 

Write your answers in boxes 31-32 on your answer sheet. 

31 Who is giving this talk? 

A An artist 

B An art critic 

C A curator 

32 Why did the speaker choose to speak about Joan Miro? 

A Because a new work by Miro was recently added to the gallery 

B Because he thought Miro would appeal to people with different tastes 

C Because he felt everyone would be familiar with Joan Mir6's art 

Questions 33-35 
Which THREE features below are mentioned by the speaker as characteristic of Joan Mir6's 

art? Choose THREE letters: A-G. 

Write your answers in boxes 33-35 on your answer sheet. 

A Themes from Spanish history 

B The use of primary colours 

C Influence of surrealism 

D Complex geometric forms 

E Large paintings 

F Equal number of sculptures and paintings 

G Birds and trees 



Questions 36-40 

Complete this table with information from the listening. 

Write NO MORE THAN TWO WORDS AND/OR A NUMBER for each answer. 

Write your answers in boxes 36-40 on your answer sheet. 

THREE OF MIR6'S GREAT WORKS 

TIRE DATE LOCATION DETAILS 

Woman and 1982 A 37 .............. in Tall sculpture, covered in 

36 .............. Barcelona 38 .............. 

Woman 39 .............. National Gallery of Large canvas, bright 

Art, Washington, colours 

D.C.

Seated Woman II 1939 Guggenheim Painted when Miro was 

Museum, New York influenced by the 

40 .............. in Spain 

IELTS Practice Test 1 I I{
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ACADEMIC READING MODULE 

Reading Passage 1 
You should spend about 20 minutes on Questions 1-14, which are based on Reading 

Passage 1 below. 

Gender selection-the choosing of a baby's gender prior to birth-occurs in many parts 

of the world. In China and India, for example, a baby's gender is considered to be of vital 

importance to the family, and male babies are often preferred over females for cultural 

reasons. In Western countries as well, there are many reasons why a family might want to 

choose a baby's sex. Often, parents wish to have a mix of both boys and girls in the family. 

There are also health reasons for gender selection: many diseases affect children of only 

one sex, and a family that is susceptible to these diseases may wish to choose a baby's 

gender to avoid having an affected child. 

This demand for gender choice by parents has led scientists worldwide to investigate 

gender selection prior to conception. Conventional wisdom states that the father's sperm 

is the main determinant of a child's gender, but recent research has begun to reveal a 

number of other possible determining factors. 

Elissa Cameron's research, conducted in 2007 at the University of Pretoria, South Africa, 

investigated the effects of diet on sex ratios at birth. In one experiment, she changed the 

blood sugar level of female mice prior to conception by putting a chemical in the animals' 

water. Mice that received the additive saw their blood sugar levels fall from 6.47 to 5.24 

millimols/litre. A separate control group of mice received pure water, without the additive. 

After a few days, the two groups of mice were allowed to mate. In the control group, 41 % of 

the mice were born female, as compared to 47% in the group that received the additive-a 

disparity that Dr Cameron ascribed to the differences in the mothers' blood sugar levels. 

Interestingly, the idea that blood sugar levels affect a baby's sex follows traditional 

wisdom. It has long been believed that mothers should eat more red meat and salty 

foods-which raise blood sugar for a long period-if they want to have a boy; they are 

advised to eat chocolates and sweets-which raise blood sugar levels for a short time-if 

they want a girl. 

Another researcher in this field, Fiona Matthews of the University of Exeter, England, has 

come up with further evidence in support of the effect of diet on the sex of the unborn 

child. Her study followed 7 40 pregnant women who kept detailed records of their diets 

before conception. Her study found that mothers who consumed high-energy foods prior 

to conception were slightly more likely to have boys. The food with the greatest effect 

seemed to be breakfast cereals, which tend to be high in energy and often high in sodium 

content as well. Among women eating cereals on a daily basis, 59% had boys, compared 

with 43% of women who ate less than one bowl of breakfast cereal per week. These 

results are said to echo those seen in other animals, for example horses and cows, which 

statistically bear more males when well-fed. 
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The eating habits of women in rich Western countries could explain the slight fall in male 

births that has been reported over the past several years. In the UK, male births are falling 

by 1 per 1,000 births per year. This decrease could be ascribed to the decline in the 

number of adults and adolescent girls eating breakfast on a regular basis. In addition, 

the popularity of low-calorie diets for females of child-bearing age could also be a factor 

contributing to the reduction in male births. 

The recent decline in male births in Western countries appears to make sense if one looks 

at it from an evolutionary standpoint. Historically, more boys tend to be born in times of 

food plenty, while females tend to be born in times of scarcity. One explanation is that 

when food is scarce, it is better for the survival of the species for female children to be 

born-as one male can father offspring by many females. Lower-calorie diets among 

Western women could be biologically echoing the effects of scarcity-hence, the decline in 

male births. 

So what can we conclude from this complicated picture? If you would like to have a son, 

it might be a good idea to eat a breakfast that includes cereal. On the other hand, if you 

would prefer to give birth to a daughter, then cut out breakfast and continue a weight 

reduction diet, at least until after conception. 

Questions 1-8 

Do the following statements agree with the information given in Reading Passage 1? 

In boxes 1-8 on your answer sheet, write 

TRUE if the statement agrees with the information 

FALSE 

NOTGIVEN 

if the statement contradicts the information 

if there is no information on this 

1 Mothers in India eat cereal for breakfast so that they will have male babies. 

2 New drugs have been developed that allow parents to choose the sex of their 

child. 

3 People used to think that the father was responsible for the sex of the baby. 

4 Elissa Cameron used both humans and mice in her research. 

5 The majority of research on gender selection is happening in Europe. 

6 People in the United Kingdom often do not eat breakfast. 

7 Some people think that drinking tea has an effect on the sex of a baby. 

8 High-calorie diets have been shown to increase the likelihood of female births. 
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Questions 9-13 

Complete each sentence with the correct ending, A-K, below. 

Write your answers in boxes 9-13 on your answer sheet. 

9 In Western countries, gender selection 

10 Elissa Cameron 

11 Fiona Matthews 

12 Eating breakfast cereal on a daily basis 

13 Evolution seems to support 

A artificially decreased the blood sugar levels of mice. 

B is often based on cultural preferences. 

C asked patients to write down everything that they ate and when they ate it. 

D the influence of food scarcity upon sex ratios at birth. 

E that adding sodium to food affects the sex of a baby. 

F is an American scientist. 

G sometimes occurs for health reasons. 

H an equal balance between male and female children. 

conducted research on horses and cows. 

is more common in the UK than in other Western countries. 

K seems to increase the likelihood of male births. 

Question 14 

Choose the correct letter: A, 8, C, D or E. 

Write your answer in box 14 on your answer sheet. 

14 Which of the following is the most suitable title for Reading Passage 1? 

A Eating Cereal Is Good for Pregnant Women 

B Research Says Mice Make Better Mothers 

C Diet May Influence the Sex of Your Baby 

D Asian Research Influences Western Medicine 

E Gender Selection Research Sparks Scientific Debate 
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Reading Passage 2 

You should spend about 20 minutes on Questions 15-27, which are based on Reading 

Passage 2 below. 

The Disease Multiple Sclerosis 

A Multiple sclerosis (MS) is a disease in which the patient's immune system attacks 

the central nervous system. This can lead to numerous physical and mental 

symptoms, as the disease affects the transmission of electrical signals between 

the body and the brain. However, the human body, being a flexible, adaptable 

system, can compensate for some level of damage, so a person with MS can look 

and feel fine even though the disease is present. 

B MS patients can have one of two main varieties of the disease: the relapsing form 

and the primary progressive form. In the relapsing form, the disease progresses in 

a series of jumps; at times it is in remission, which means that a person's normal 

functions return for a period of time before the system goes into relapse and the 

disease again becomes more active. This is the most common form of MS; 80-

90% of people have this form of the disease when they are first diagnosed. The 

relapse-remission cycle can continue for many years. Eventually, however, loss of 

physical and cognitive function starts to take place, and the remissions become 

less frequent. 

C In the primary progressive form of MS, there are no remissions, and a continual 

but steady loss of physical and cognitive functions takes place. This condition 

affects about 10-15% of sufferers at diagnosis. 

D The expected course of the disease, or prognosis, depends on many variables: 

the subtype of the disease, the patient's individual characteristics and the initial 

symptoms. Life expectancy of patients, however, is often nearly the same as that 

of an unaffected person-provided that a reasonable standard of care is received. 

In some cases, a near-normal life span is possible. 

E The cause of the disease is unclear; it seems that some people have a genetic 

susceptibility, which is triggered by some unknown environmental factor. Onset 

of the disease usually occurs in young adults between the ages of 20 and 40. It is 

more common in women than men; however, it has also been diagnosed in young 

children and elderly people. 

F Hereditary factors have been seen to have some relevance. Studies of identical 

twins have shown that if one twin has the disease, then it is likely that the other 

twin will develop it. In addition, it is important to realise that close relatives of 

patients have a higher chance of developing the disease than people without a 

relative who has MS. 

G Where people live can be seen to have a clear effect, as MS does not occur as 

frequently in every country. It commonly affects Caucasian people, particularly 

in North America, Europe and Australia. It has been recognised that MS is more 

common the further the country is away from the equator, and the incidence of 
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MS is generally much higher in northern countries with temperate climates than in 
warmer southern countries. 

H Three things, which do not normally occur in healthy people, happen to people 
who have MS. First, tiny patches of inflammation occur in the brain or spinal cord. 
Second, the protective coating around the axons, or nerve fibres, in the body start 
to deteriorate. Third, the axons themselves become damaged or destroyed. This 
can lead to a wide range of symptoms in the patient, depending on where the 
affected axons are located. 

A common symptom of MS is blurred vision caused by inflammation of the optic 
nerve. Another sign is loss of muscle tone in arms and legs; this is when control of 
muscle movement, or strength in the arms or legs, can be lost. Sense of touch can 
be lost so that the body is unable to feel heat or cold or the sufferer experiences 
temperature inappropriately; that is, feeling heat when it is cold and vice versa. 
Balance can also be affected; some people may eventually have to resort to a 
wheelchair, either on a permanent or temporary basis. The course of the disease 
varies from person to person. 

A diagnosis of MS is often confirmed by the use of a magnetic resonance imaging 
(MRI) scan, which can show defects in the brain and spinal cord. Once diagnosed, 
MS is a lifelong disease; no cure exists, although a number of medical treatments 
have been shown to reduce relapses and slow the progression of the disease. It 
is important that patients with the disease are diagnosed early so that treatment, 
which can slow the disease, can be started early. 

Questions 15-19 

Reading Passage 2 has ten paragraphs labelled A-}. Which paragraph contains the 

following information? 

Write your answers in boxes 15-19 on your answer sheet. 

NB: You may use any letter more than once. 

15 The main types of the disease 
16 Loss of the sense of feeling 
17 The progress of the disease 
18 Treatments for the disease 
19 The effects of geography 



Questions 20-27 

Complete this table below. 

Choose NO MORE THAN THREE WORDS from the passage for each answer. 

Write your answers in boxes 20-27 on your answer sheet. 

Main Types of 20 .............. 

21 .............. Primary Progressive Form 

80-90% of sufferers 22 .............. of patients 

Causes are unclear. 

23 .............. Hereditary 

24 .............. people are more often affected If one 26 .............. is 

than other races. There is a higher incidence where affected, the other is likely to 

the weather is 25 .............. develop MS. 

Three effects of MS: 

Inflammation in the brain Coating of nerve fibres Axons themselves 

and/or 27 .............. damaged. damaged. 

IELTS Practice Test 1 
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Reading Passage 3 

You should spend about 20 minutes on Questions 28-40, which are based on Reading 

Passage 3 below. 

Surge Protection 

With more devices connecting to the world's electrical networks, protecting electrical 

systems and devices from power surges-also known as distribution overcurrent-has 

become more important than ever. Without adequate overcurrent protection, interruptions 

to electrical service can have catastrophic effects on individuals, cities and entire nations. 

In a normal electrical system, customers are supplied with a steady electrical current-a 

predetermined voltage necessary to operate safely all electrical equipment connected 

to that system. This steady electrical supply is subject to minimal variations-variations 

that are imperceptible to the consumer and do not normally harm electrical devices. An 

overload current is any surge that exceeds the variances of this normal operating current. 

The higher the overcurrent, the more potential it has to damage electrical devices. One of 

the most important principles of overcurrent protection, therefore, is that the higher the 

magnitude of the overload current, the faster the overcurrent must be disrupted. 

How do overcurrents occur? Most overcurrents are temporary and harmless, caused 

when motors start up or transformers are energised. Such things as defective motors, 

overloaded equipment or too many loads on one circuit, however, can cause harmful, 

sustained overcurrents, which must be shut off quickly to avoid damaging the entire 

distribution system. An inadequately protected system can cause damage ranging from 

electrical shocks to people coming in contact with electrical equipment, to fires caused by 

the thermal ignition of electrical materials on the overloaded circuit. 

Electrical storms and lightning are among the biggest causes of major distribution 

overcurrent worldwide. In the United States alone, 67 people are killed every year by these 

types of storms (including those killed by falling trees and power lines-not only surges). 

The intense current of a lightning discharge creates a fleeting, but very strong, magnetic 

field. A single lightning strike can produce up to a billion volts of electricity. If lightning 

strikes a house, it can easily destroy all the electrical equipment inside and damage the 

distribution system to which that house is connected. 

To protect people and devices adequately, overcurrent protection needs to be sensitive, 

selective, fast and reliable. IN the interest of conservation, most power systems generate 

different loads at different times of day; overcurrent protection must therefore be sensitive 

enough to operate under conditions of both minimum and maximum power generation. 

It also needs to be selective so that it can differentiate between conditions that require 

immediate action and those where limited action is required; in other words, it should 

shut down the minimum number of devices to avoid disrupting the rest of the electrical 

system. Overcurrent protection also needs to be fast; it should be able to disconnect 

undamaged equipment quickly from the area of overcurrent and thus prevent the spread 

of the fault. Of course, the most basic requirement of protective equipment is that it is 

reliable, performing correctly wherever and whenever it is needed. 
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When an overcurrent occurs at a major electricity supply point such as a power station, 

the resulting surge, if it is not checked, can damage the entire distribution system. 

Like a flooding river-which breaks its banks and floods smaller rivers, which in turn 

flood streets and houses-the extra voltage courses through the network of wires and 

devices that comprise the distribution system until it discharges its excessive energy 

into the earth. This is why each piece of equipment within the electricity manufacturing 

and distribution system must be protected by a grounding or earthing mechanism-the 

grounding mechanism allows the excess electricity to be discharged into the earth directly, 

instead of passing it further down the distribution system. 

Within the distribution system, surge protection is provided by overcurrent relays. Relays 

are simply switches that open and close under the control of another electrical circuit; 

an overcurrent relay is a specific type of relay that operates only when the voltage on 

a power line exceeds a predetermined level. If the source of an overcurrent is nearby, 

the overcurrent relay shuts off instantaneously. One danger, however, is that when one 

electrical circuit shuts down, the electricity may be rerouted through adjacent circuits, 

causing them to become overloaded. At its most extreme, this can lead to the blackout of 

an entire electrical network. To protect against this, overcurrent relays have a time-delay 

response; when the source of an overcurrent is far away, the overcurrent relays delay 

slightly before shutting down-thereby allowing some of the current through to the next 

circuit so that no single circuit becomes overloaded. An additional benefit of this system is 

that when power surges do occur, engineers are able to use these time delay sequences to 

calculate the source of the fault. 

Fuses and circuit breakers are the normal overcurrent protection devices found in private 

homes. Both devices operate similarly: they allow the passage of normal currents but 

quickly trip, or interrupt, when too much current flows through. Fuses and circuit breakers 

are normally located in the home's electrical switch box, which takes the main power 

coming into the house and distributes it to various parts of the home. Beyond this level of 

home protection, it is also advisable to purchase additional tripping devices for sensitive 

electrical devices such as computers and televisions. While many electrical devices are 

equipped with internal surge protection, the value of these devices usually warrants the 

additional protection gained from purchasing an additional protective device. 

The modern world could not exist without reliable electricity generation and distribution. 

While overcurrents cannot be entirely avoided, it is possible to mitigate their effects by 

providing adequate protection at every level of the electrical system, from the main power 

generation stations to the individual home devices we all rely upon in our daily lives. 
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Questions 28-33 

Choose the correct Jetter: A, B, C or D. 

Write your answers in boxes 28-33 on your answer sheet. 

28 In a normal electrical system, 

A voltage differences are usually quite small. 

B overcurrent protection is mainly provided by circuit breakers and fuses. 

C different amounts of electricity are generated at different times of day. 

D some circuits constantly experience a certain level of overcurrent. 

29 The writer suggests that most overcurrents 

A are harmless and temporary. 

B affect all levels of the distribution system. 

C are triggered by electrical storms. 

D can be instantaneously controlled by relays. 

30 What does the writer state is the most basic requirement of overcurrent protection 

equipment? 

A Speed 

B Selectivity 

C Sensitivity 

D Reliability 

31 What is an essential safety requirement for every device in an electrical system? 

A A grounding mechanism 

B The ability to shut down quickly 

C Sensitivity to variances in the electrical system 

D Internal surge protection 

32 In which of the following circumstances might the shutdown of an overcurrent 

relay be delayed? 

A If the source of an overcurrent is nearby 

B If an overcurrent is caused by an electrical storm 

C If an entire electrical network experiences blackout 

D If the source of the overcurrent is far away 



33 The writer suggests that most household electrical devices 

A are adequately protected by the home's electrical switch box. 

B should be protected from overcurrent by additional devices. 

C produce strong magnetic fields that can sometimes cause surges. 

D are designed to shut off after a short time delay. 

Questions 34-40 

Do the following statements agree with the information given in Reading Passage 3? 

In boxes 34-40 on your answer sheet, write 

TRUE if the statement agrees with the information 

FALSE if the statement contradicts the information 

NOT GIVE if there is no information on this 

34 All variations in electrical voltage are potentially damaging and must be 

prevented. 

35 Electricians must use special tools to fit fuses. 

36 The most common cause of overcurrents is the presence of too many loads on 

one circuit. 

37 Over 100 people are killed by electrical storms worldwide each year. 

38 Effective overcurrent protection systems shut down as few devices as possible. 

39 The effects of overcurrents are magnified when electricity comes in contact with 

water. 

40 Overcurrents course through the entire distribution system unless they are 

discharged into the earth. 

IELTS Practice Test 1 
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ACADEMIC WRITING MODULE 

Writing Task 1 

You should spend about 20 minutes on this task. 

The chart below shows the results of a recent survey into the causes of poor school 

attendance in the UK. Summarise the information by selecting and reporting the main 

features, and make comparisons where relevant. 

Write at least 150 words. 

CAUSES OF POOR ATTENDANCE IN UK SCHOOLS 

Writing Task 2 

Upbringing 
5% 

You should spend about 40 minutes on this task. 

Some people think that the government should provide unemployed people with a 

free mobile phone and free access to the internet to help them find jobs. 

To what extent do you agree or disagree with this opinion? Give reasons for your answer 

and include any relevant examples from your own knowledge and experience. 

Write at least 250 words. 



SPEAKING MODULE 

Time: 11-14 minutes . 

Part 1 

Introduction to interview (4-5 minutes): The examiner will begin by introducing himself 

or herself and checking your identity. She or he will then ask you some questions about 

yourself based on everyday topics. 

• let's talk about the place where you live now.

• Describe the place where you live now.

• Were you born there?

• Do you live on your own or with your family?

• Has the place changed much over the time you have lived there? (How?)

Part2 

Individual long turn (3-4 minutes): Candidates' task card instructions: 

Task Card 

Please read the topic below carefully. You will be asked to talk about it for one to two 

minutes. You will have one minute to think about what you are going to say. You can 

make some notes to help you if you wish. 

Describe a musical event you enjoyed attending. You should say: 

• What the event you attended was

• Where it took place

• Who was with you

Also, explain why you enjoyed attending the event. 

IELTS Practice Test 1 
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The examiner may then ask you a couple of brief questions to wrap up this part of the test. 

Further questions: 

• Do you play music yourself?

•. What instruments can you play?

• What kind of music do you most enjoy? What do you like about it?
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Part3 

Two-way discussion (4-5 minutes): In Part 3, the examiner will ask you further questions 

related to the topic in Part 2. 

Let's consider listening to music: 

• How expensive is it to attend a concert in your country?

• Is it better to listen to live music or to listen to music on the television or radio?

Why is one way better?

• Do you think there is too much music available now? Why/Why not?

Finally, let's talk about famous musicians: 

• Why do you think people are so interested in the personal lives of musicians?

• Is that interest stronger now than in the past?

• What are some things that can affect the image and popularity of musicians?


